EMBAAA

A) OIKOTIEAOY

EO= \j24.29(24.29719.24)(24.29713.35)(24.29716.00) = 105.59 m2

El= \j20.55(20.55719.24)(20.5578.30)(20.55713.55) =47.92 m2

E2= \/20.6Z(ZO.62720.15)(20.6277.50)(20.62713.55) = 28.83 m2

E3= \j30.29(30.29727.10)(30.29—20_1')(30_29712_60) =116.14 m2

E4= \/30.51(30.51—27.!0)(30.51—12.00)(30.51421_21) =119.13 m2

E5= \/21_97(21_97—21.21)(21.9745.45)(21.97—17.27) = 35.86 m2

E6= \/19_12(19_12-17_27)(19,12-6_10)(19,12»14_!7) = 4424 m2

E7= \/l8453(18.53—14.87)(1&53—1475)(18.53-7,45) =53.39 m2

Es- \/17,54(17.54-14.75)(17454-4,30)(17.54-15.53) = 35.40 m2

Eo= \/1933(19.33-15.53)(19433—13454)(19.33-9.60) = 64.42 m2

E10= \/164ll(164ll—13,54)(16.13-6,00)(16.18-12.82) =38.22 m2

El1= \/13.67(13.67713.53)(13.67712.!2)(13.6771.00) =4.66 m2

E12= \j20.56(20.56713.53)(20.56715.40)(20.56—12,20) =79.04 m2

E=772.86 m2

FIANNHE & TTQPFOZ PABANHE

TITAOZ

ATIOTYTI2ZH IAIOKTHIIAL

IAIOKTHTHZ

AYZANAPOE IQANNOY

OEZXZH

"MAXAAAZ" T.K. ZAPAKON
AHMOY KYMHZ-AAIBEPIOY

OEMA ZXEATOY

TOTTOFPASIKO AIATPAMMA

EFZA (opia)

B) KTIZMATON

A| 51681354 | 4239595.94
YTTOTEIO ( pikpo) B| 516824 .89 | 423959
E=6,10X4,0=24,40M2 o] 42395
YTTOTEIO (ueyaho miow) % %
E=12,80X5,55=71,00M2 zZ| 423950371 |
IZOTEIO (kavoikia) H] 1 | 4239604.06 |
E=11,80X6,10=-72,00M2 e 4239603.87

I 4239602.87
HZX (movmju) K 4239602.97
E=7,80X1,9=14, 80M2 A 4239608.42
OPOOX (karoikia) M| 4239611.01
5,55X12,80+11,80X6,10=143,00M2 N[ 516833.79 | 4239618.94

=[516821.70 | 4239623.36
H/X (opogou) O[ 516818.22 | 4239607.64
E=7,80X1,9-14, 80M2
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